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POLITICAL SCIENCE
Paper II

TSI
gyautent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions. Each question
carries Two (2) marks. Attempt All questions.

GOl : A JIAAGehd TR Ue (50) SEAAE U STRd. Uieh YA & (2) U STRd.
Tl yvd dred

1. Which phrase did Kautilya use to | 1. wifecam Tsafad stawddia A

describe human life in the absence g 9vH w9 o ?
of the state ?

(A) fraTiaen
(A) State of Nature

(B) HcT=™
(B) Law of the fishes

(C) feiaw wridan
(C) Perpetual peace

(D) R e7a<en

(D) State of innocence

. . .| 2. e foctedn Sredidia Sivd Sl e
2. Which of the following pairs is s

Incorrectly matched ? M 7

(A) MK.Gandhi — Swaraj VR U

(B) M.N. Roy — Radical (B) HIelsAId IF  — oI
Humanism HAIATES

(C) Aurobindo Ghosh— Spiritual (C) eRfag =™ —  smeATicHeh
Unity Ce

(D) B.R. Ambedkar— Hindutva (D) fHE 3Teehl — i%gqq

3 [P.T.O.



Which thinker staunchly defended

Papal Supremacy ?

(A) Alighieri Dante
(B) William of Ockham
(C) Marsiglio of Padua
(D) Giles of Rome

Which of the following statements

are correct ?

(2 Positivism was the
philosophical  basis of

behaviourism

(b)) Behaviourists emphasised the

separation of facts and values

(0 Post-behaviourists considered
relevance to be more important

than rigour

(d Behaviourism triumphed over

post-behaviourism
(A) (a), (B and (0
(B) (2, (b and (d
(©) (b, (& and (d
D) (a), (& and (d
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SIol foamad qia=en S $gl
qrERdl gl ?

(A) SR T

(B) facaq &Afd 3iEd

(C) =ifdfe=n it g

(D) Sfed 3w |

et fedten faumrdia i faem

TN TR ?

(2) TGI8 IaaeT=N dittelsh 9

il

(b ST a2 o oo I HRehda
W fee

(0 STRSACHIETET TEIAdT ShIHhRIT-

e At Heww foo

(@) TATARM ITEATARERX HIETE!

el
A (a, (b s (o
B) (a2, (B i (d)
© (b, (o =nfur (d
D) (a), (9 sufur (d)




The liberty of the ancients is in

consonance with :

(A) Liberal individualism
(B) Civic republicanism
(C) Totalitarianism

(D) Theocracy

Give the correct answer by using the

codes given below :

(1) Plato is the father of political

philosophy

(2) Aristotle is not the father of

political science

(8) Machiavelli is the father of

political realism

(4) Antonio Gramsci is not the

father of passive revolution
Codes :
(A) (1) and (2) are correct
(B) (2) and (3) are correct
(C) (2) and (4) are correct

(D) (3) is correct

AUG-15215/11

TeATe] T Hhed T heMel FETd
e ?

(A) ERHTAR! HAfRaR

(B) IFT{ UGS

(C) TdHIaE

(D) gHExTR TSTIS

ETel! feeTed Fehase=n 9T & I
I = ¢

-~

(1) USehd deagME=l 3T =2l

Sl

(2) TSRS Il AR e ARl

(3) USIHTT  ITFAFATTAT IS
Hfehueeet e

(4) STHIVICHS ShICTN SCT STarfai
TR AT

Hehage :

(A) (1) o (2) s e

(B) (2) a1 (3) SRR 371ed

(C) (2) o (4) s &

D) (3) T TR =

[P.T.O.



Which one of the following pairs is

correctly matched ?

(A) G.W.F. Hegel—Civil Society
(B) T.H. Green—Social Contract
(C) Karl Marx—General Will

(D) Machiavelli—Political Idealism

According to Marx what is the
correct sequence of the modes of

production ?

(A) Slavery, Feudalism and
Capitalism

(B) Feudalism, Slavery and
Capitalism

(C) Capitalism, Slavery and

Feudalism

(D) Slavery, Capitalism and

Feudalism

AUG-15215/11

ETATAdHT HITET SISl T JHR

Seu i e |
(A) StesqTh. 3d — AR 9

(B) A.w=. WA — 9IS R

(C) ket AR — HME Godeheq

(D) ufruseell — USRI ACIERE

Y o (aVal bV
hTel HEFd=T AJd SCHIGA=AL A=l enlYIdl

HH e T ?

(A) TAWARY, TRSHLTE 2T Areaa-
NI

(B) GISHME, TerHfid erfur

S IECIGNIE]

(C) wiTsa@sNgl, TATHfIT  aArfo

FLSITHIE!

(D) AR, rEaATnEr ATt

TLSITHIET




10.

Which one of the following pairs is

not correctly matched ?

(A) J.S. Mill—The subjection of

women
(B) Machiavelli—The Prince
(C) Aristotle—Utilitarianism

(D) Hobbes—The Leviathan

Which one of the following pairs is

not correctly matched ?

(A) Mao Zedong—Cultural

Revolution

(B) Antonio Gramsci—Cultural

hegemony

(C) V.I. Lenin—Bolshevik
Revolution

(D) Karl Marx—Cultural

Revolution

9.

10.
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TCHTCTIhT IO SISt 2T YR Sjeedat!
& ?

(A) S.ug. A — T TeoiahyM™ 31 faae

(B) Hferusmel — o

(C) stfiwfea — Ffefaisifm

EN

(D) &8sst — T forediued

TICHCUhT IO SISt AT YR Sfeedat!

& ?

(A) TRN-F-SM — WRHfaw Hidl

(B) STaisTt Ui —ARapfas  goE

(C) =M. Al — diesifegsh Shidl

(D) +dl AR — WRHfaHw il

[P.T.O.



11.

Identify the incorrect statement :

(A) In Switzerland the members of

the executive are the members

of Legislature

(B) In USA the members of the

executive are not the members

of Legislature

(C) In UK the members of

executive are the members of

Legislature

(D) In India the members of the

executive are the members of

the Legislature

AUG-15215/11

11. Tyt @ faum fesEn .

(A) TacEcis 788 FRER Ao 4o

T FRCHSHE TS 3T

o

(B) afehd &Rl T S ©

FRICHERE Ho& Hdd

(C) Faee fonirenmed SRl HEa™

TETg B HIIcHSHIY HSH

(D) YRAd wrEASR Head 9es ©

FECHSE He&d 3THAd
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12. Match the List-I with List-II by

12. Eeid Fhaygeal aR el aRi-1 3

using the codes given below :

FEI-11 el Seshi=a Sedl el :

List-I List-1I1
Iqrat-1 IJrar-11

1 UsA (& Council of States

(1) R (2 HiFEA 3w Leg

& National Council
g I hitad

(20 Switzerland (5 House of Lords &

2) famcie (b T8 dAE a9
House of Commons

BSH ATH A,

(3 France (0 Senate & House of
(3) wrH (0 e 9 T=d 3tk
Representatives
[EEEECiE

4 UK (d National Assembly

& Senate 4) I& (d) -eme 18eet 9 fame
Codes : W :
@A) 01— @—a G—ad @—b @ (1—0d @—a B—ad @—h
B (1—d @—0o B—b (“d—a) B) 1—ad 2—0 G—b (4—a)
© 0—b 2—ad B—a @—0o © 1—bH 2—ad B—a @—0o
D 01—ad e—bH B—0 4—a) D) 1—d @—b»H B—0 (“4—a)

9 [P.T.O.



13.

14.

Which one of the following is not

correctly matched ?

(A) France — Biparty System
(B) USA — Biparty System

(C) India — Multiparty System
(D) China — One Party System

Which among the following pairs is

not correctly matched ?

(A) Consti- — Supremacy

tutionalism of Constitution
(B) Federalism — Division of
Powers

(C) Parliamentary —Supremacy of
Executive

System

(D) Presidential — Separation of

System Powers

13.

14.
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Eeileliehl 37T Siel e

A) w9  — fguy usd
(B) smfehr —  fguer ugdl
(C) ¥9rRd —  SguY ggdr
(D) =™ —  THUE gl

EeAciieh] 3TaTd el AleEl

(A) THFAER  —  ToFEA=!
REIk)

(B) WeRmoweE  — was fqwmd

(C) HEcE e — HRHR el

Tareed

(D) 1=F&fg =Taq — 9xd faureH
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N [l =N ~
15. Judicial Review is absent in which | 19 RITICAT IUShRTA SHIEAT ATATAHTT

political system ? qrfeietioh STfedeald Al ?
(A) USA (A) sl

(B) India (B) ¥a

(C) UK (C) FTaee e

(D) Switzerland (D) famEe

16. What is the tenure of Swiss | 16. TTEcie=n FE&N AeI=T HHHS

Executive ? et st&al 2
(A) 5 Years (A) 5 T
(B) 4 Years (B) 4 =
(C) 6 Years (C) 6 o
(D) 7 Years (D) 7 &

11 [P.T.O.



17.

18.

Which one of the following

statements is incorrect ?

(A) Constitutionalism implies

limited Government

(B) War is the important threat to

Constitutionalism

(C) American Constitution

guarantee rights to the citizens

(D) British Constitution is the first

Enacted Constitution

Who described bureaucracy as a

“continental nuisance” ?

(A) Thomas Carlyle

(B) R.K. Merton

(C) Max Weber

(D) M. Crozier

17.

18.

AUG-15215/11

Wredtyesh! 3@a faum s ?

(A) TEEAERE WUN AFifed I

(B) I§ T THIANERIIE T HewaT

eRH 3R

(C) TR TsT=eT 39T AR

TR T&Id .

(D) TorereT Tsa=e & ufeell TR shetet

TEeT M.

hnN (a)

AR 90 ‘ EErT 3ugd’ 319 hIvl

%l A® ?

(A) 919 HTARA
(B) 3R.%. ®eA
(C) Hag IR

(D) . HIER

12
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19. Who said, “Revolution is a sweeping | 19 gamRE_aw™s Y698 HIFHEes g
fundamental change in the oS gdETd g T frad =S
predominant myth of a social it ¥ U ot S ?
order” ? )

(A) Huntington
(B) st.wg. fIex
(B) G.S. Peter
(C) H. Arendt © ==
(D) Neumann (D) g

20. Arrange in the order that AFK | 20. wu®.s. SMTIAERT ITAT IMEATAT
Organski examined the role of qfrengcyia drevh wam TSwRE
government through the four stages fasmm wR 2@’ Fifqel 3Ted. A
of his “Stages of Political § T el :

Development”. (1) SirEnfieiest
(1) Industrialization (2) wifias THEE TR
(2) Primitive national unification

(3) fagern
(3) Abundance

. (4) TS Hear

(4) National welfare
Codes : LU
A) (@), (1), (@), (3) A @), (), @, 3

C) 3), 1), (1), (2
© O, @, ©, @ © 6006

D) @, (3), (2), (1)
D) @), 3), 2, (1)

13 [P.T.O.



21.

22.

Who gave the slogans of “Jai Hind”

and “Delhi Chalo” ?

(A) Aurobindo Ghosh

(B) Jawaharlal Nehru

(C) Mahatma Gandhi

(D) Subhash Chandra Bose

The preamble enshrines certain

ideals that were first spelt out in :

(A) The speech by Jawaharlal
Nehru on the banks of Ravi
when he called for Purna

Swaraj

(B) The Nehru Report

(C) A resolution adopted at the
Karachi Session of the Indian

National Congress

(D) The objectives Resolution
adopted by the Constituent

Assembly

21.

22.

AUG-15215/11
‘Srafee’ emfor ‘ faoel =’ = Sero kol
e ?
(A) erfesr =

(B) SaTeldial We%
(C) wRIeH e

(D) guoEs A"

RO ST T&eHd THIEeE
A= FaYYd 3Ie@ Hi HIvAM

e ?

(A) 9ol W SE "ieaHT el

o

A= Taemer STemgiara Jgel

NN N
cheicl
HISOT

(B) “ee RUrR

(C) IR U HIAT=AT HIH

ATy TR 304

(D) w1 Ui ThRere 3R s

SN

14
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23. Match List-I with List-II and choose 93. A@A-1 7 ARA-1I Hefrer S SIEERIE]
the correct answer from the codes . o
Hend{d=l dlHY {0
given below :
Tret-1 Tret-11
List-I List-II
(2 wam 43% (1) TR FERIR
(@ Article 43A (1) Legal aid to the poor
(®  Article 43 (2) Prohibition of
. | (B wHeH 43 (2) WIee aeTfA
consumption of alcoholic
drinks T giqay
(0 Article 47 (3) Prohibition of Cottage (0 o™ 47 3 FTWTFH yfqere
Industries (d HdH 39%  (4) HIEAIA
(@ Article 39A (4 Workers Participation HTATCET e
in Management = & .
Codes :
(a) B (0 (d
(a) B (d
@ @ @ @
@ @ @ ©
B @ O @ G
B @ O @ O
© @ @ @
© @ @ @ @
® 3 @ @O @
D B 2@ @© @
15 [P.T.O.



24. Which of the following provisions of

25.

the Constitution can be amended by
Parliament by a simple majority ?

(4)

Creation of new states in the

union

(B) Fundamental Rights

(C) Directive Principles of States
Policy

(D) Provisions related to

Panchayati Raj (Article 243)
Which one of the following
statements related to President of
India is incorrect ?

(A) President shall have the power
to summon or prorogue the
session of parliament

(B) President shall have the right

to send message to either House

of Parliament

(©

President shall have power to

send message not only
legislative matters but also
“otherwise”

(D) President shall have the power

to send message only on

Legislative matters

AUG-15215/11

24, WTAYR] ToTHSA=AT HI0TCAT T

25.

IS |ieA] FgHAH ekt hidl ad ?

(A) YR FOd e o= fAfHdar

(B) qAYd &Fh
(C) TSIl ATfesies aw

(D) d=merdt TS (Sherd 243) HaE WaT

GTeATeTish! TRATE TS SgHidia

Fo faue @ e ?

(A) YRATeA [T qHea STREeH

A= ST 3TTe.

(B) HUSE U HIUCATE FAHNEH
ATTAT T UISfavam=n e
ST

(C) LU HERIME qog @ ‘SR’

o L

STeldidel ey qrefavamn AR

Tl

(D) TSI hefes hIASIIRETSE TaYT
TRfauarEr AfYER 3TE.

16



26. One of the following is incorrect

217.

(a)
b
)

(d

about NITI Aayog :

(A) The power to allocate funds is
not vested with Finance
Ministry

(B) The number of full time

members could be fewer than

Planning Commission

(C) Chief Ministers of Union
Territories are not part of NITI
Aayog

(D) Only four Cabinet Ministers
will serve as ex-officio
members

Select the correct answer by using
the codes given below :
6))

Regional Party Akali Dal/TDP

National Party (2 BJP/DMK

Bahujan Party (3 BSP/Bahujan
Mahasangh

Ideology Based (4 CPM/CPI

Political Party

(A) (1) and (2) are correct
(B) (2) and (3) are correct
(C) (8) and (4) are incorrect

D) (1), (3) and (4) are correct

26.

217.

(a)

()

)
(d)

AUG-15215/11

Tefedent Al STARTEG Y v faum
Ih IR ?

e faaeor st STemeery fod

EPIGRICIEE |

(A)

(B)

ST A=A Jetd ATl ST

quf 9 GSETE HEA HHl S

(C) &3eMfad YIvme JEausl id]

AR 95T AR
hdos TR hald Tl il AR
s TS Y.

(D)

EITett feeted Fehas=ial a1 e A

I foar .
Uef¥er 98

(1) 3TehTeAl S/ e aEH
T8

(2) wrsTal/gfare qA
HezEH

e &l (3) =EUY/gSH W

faaR gomeler (4) Tadiem/fadism

Y 98

Hehaqel :

(A) (1) =for (2) I eR

(B) (2) =ufor (3) drg MR

(C) (3) =nfor (4) Fehi= 21E

D) (1), (3) =for (4) AT 3R

T 98

17

[P.T.O.



28.

29.

The 73rd Act is not applicable to
which one of the states given
below ?

(A) Nagaland, Tripura and Assam
(B) Mizoram, J & K and Nagaland
(C) Meghalaya, Tripura and J & K
(D) J &K, Nagaland and Jharkhand
Match List-I with List-IT and choose
the correct answer from the codes

given below :

List-I List-II
(Constitutional (Effects)
Amendment)
(@ 58th (1) Lowering of voting age
from 21 to 18
(B 6lst (2) Right to education
(© 77th (3)  Publication of the
Constitution in Hindi
(@ 86th (49 Reservation in
promotions to SCs and
STs
Codes :
(a) b © (d
A @) @ O @
(B) 3) n @ @
© @ 4 G @
D) ) @ @© O

28.

29.

AUG-15215/11

7391 HEAGEKI FHIAGT WICHTTIeh! v

T ] AR ?

(A) Trmere, B 9 s

(B) THeiR®, SH-HITM d AN

(C) wemera, 5rqU 9 SH-h1fv

(D) -, TAMeIE 9 ARTS

“afgelt TR gEU AR o e

feeiea Hehayaa AT e A0d W

Sesel
RLEU|

-1

(BT ST&AT) (afom)

(a) s&aft (1) AR == 21
TE 18 A

(b) 618l (2) Teraqom=n SAfEeh

(9 774 (3) f&dt woa
TSIEA WTEIR

(ad) 86at (4) Tgf=a Sit-
ST STRETT

Hehagell :

@ W O W

@ @ 6 O @

® & @O @ @

© @O @ 6 ©

® @ @ @© O

18



30. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : Leftist Government
of West Bengal suggested to initiate
an amendment to include the word

‘Federal’ in the description of

‘Republic of India’

Reason (R) : They suggested to
replace the ‘Union’ by the expression
‘Federation’ in all places to protect

states autonomy.

In this context of the above which

one of the following is correct ?

(A) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)

(B) Both (A) and (R) are true and

(R) is the correct explanation of

A)
(C) (A) is false and (R) is true

(D) (A) is true but (R) is false

AUG-15215/11

30. el S faum v et 3R, R

T faum (A) se W W &R (R)
e

faam (A) : 9fy=m IMes=a S/ YA

WRATAT ¢ AT RS 31 SuiATd S

3 Vs gHIfGSE H{E] 9 ATHIS!

FEAGE! hYE] TH Fafda.

HRUT (R) : T T’ 1 Wersit TeRmsy

NN

T Yeg GAN STHIET, SHEN TSI

[N

@ feha @ gafae.

o faumren Heyid Treiteiish! hivM
W ae A ?

(A) T (A) T (R) sReR 318 90T (R)
T (A) 9 I SR AR

(B) <=t (A) 9 (R) sRIeR 3Tg 37for (R)
T (A) = 9 RO IR

(©) (A g e (R) Irg 1

(D) (A) grg e (R) 3rErg &1

19

[P.T.O.



31.

Match List-I with List-II and select

the correct answer by using the

codes given below the list :

List-I

(@ Purpose

() Process

(@ Clientele

(@ Area

Codes :

(a)

A 3

B

© @

D) (@)

()

(1)

®3)

3)

(1)

®

@

®

@)

(0

()

(2)

(4)

(4)

List-1I

Education

Tribal Welfare

Law

North-East

(d

(4)

(4)

(1)

3)

31.
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qfecil Sl TEAT QI Soodll. @l
et Hehaiei=l AT HE A S
fare.

-1 11
(a) =W (1) foagm
() wfsma (2) e wHedr
(0 Tew = (3) HERl
(d &= (4) IW-d
Hehagett :

@ B O @@
a6 O @ @
® 0 & @ @
©e@ 6 @ @
D e O @ 6
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32. Select the correct answer by using

32. TICd Hehayardl AR & HSwlehdl

the code below about ‘Adhocracy”.

() The term coined by Warren

Bennis

(7 It is popularised by Alwin

Ted= I W e .

() 9RF S I g G "ied

(7)) 3ilcrfem Sfmer T fae gfagt fee.

Toffler
(i) @ T fauda TR
(ip It 1is the opposite of
bureaucracy (fv) T M Thed TERN Heuld STA

(7w Tt refers to a small project team

which work across the
departmental boundaries of an

organisation
Codes :

(A) (2 and (72 are correct, (i) and

(iv) are incorrect

(B) (1 and (72 are correct, (77 and

(iv) are incorrect

(© (2, (D), (i) and (v) are

correct

(D) (2 and (7)) are incorrect, (7)) and

(iv) are correct

ee=AT faumr=a JaRen sfered
HE .

Hehagel

(A) () sfor (i) s, (7)) &Afon
(iv) =T

B () sufor () SAsR, (77 AT
(iv) =

(©) (), (), Gip o (Gv) SR

D) () sufor () &=, (7)) A0
(7v) SR

21
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33. Arrange

chronologically the

institution related to planning in

India. Choose the correct code :

() Planning and Development

Department

(7 Advisory Planning Board

(ii7 Planning Commission

(7w NITI Aayog

Codes :

A) (), @, (i) and (V)

B) (), (1, (i) and (V)

(C) (1), (zn, () and (V)

D) Gw), (i), (G) and ()

AUG-15215/11

33. TIeel Fehayaral AR S R

faSaEaeia T SFTASRATIER

S[esdl

() T enfor foema faum

(77 THESA o «re

() TEeE e

(7v) = A=

-
-
-

A @, (), G e (v

® ), (), (D e ()

(©) (i, (), ) =1 (4w

D) Gw), (i), () 31 ()
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34. Select the correct statement about

34. AT Heha¥e= TR HE SIS HiHA

Estimate Committee from the

codes :
() It is a standing committee

(7 All members belonging to Lok
Sabha

(ii7 Members are elected on the
basis of proportional

representation

(7» Suggest alternative policies to
bring efficiency and economy in

administration
Codes :

A) @, (G, (i) are correct, (iv) is

incorrect

B) @, G, (Gv) are correct, (ii) is

incorrect
(©) @, (p, (i, (Gv) are correct

D) (), (7)) are correct, (7i)) and (Gv)

are incorrect

HeHid srgeh faum faer

() < e afadr eme

() el Td TS ArhgHdid STEdTd

(77) THORIR gfafeiam=n sTem &

Ho I steldl S1Hard

(fv) T TRTEAHE STeferee & e
SIS qARA SR FAfoor

03
.
.

(A) ), (), (1) SR 3774, (7v) TR

Sl

B) ), (12), () SR T4, (277) TR
e

© O, (2, (i), (Gv) SR A&

D) (), (7) &R 3mwea, (777 30 (7v)
THE 3T

23

[P.T.O.



35. Select the 1ncorrect statement about

decentralisation :

(A) Decentralisation may be

political or administrative

(B) Administrative decentralisation

may be vertical and territorial

or horizontal and functional

(C) Creation of Panchayati Raj

Institution within the states is

an example of decentralisation

(D) Planning Commission
symbolizes the trend towards

decentralisation

AUG-15215/11

35. foshgitomaad gente fauam faer :

(A) fohsientur ® Useh i fohal UemEeha

3194

(B) WemEeT fashgientor § SWRude

affor geferer fowar smeem emfor

HTAHS 3T,

(C) T~amed T=maerEe= it §

o

-
fereh

[a N

RIS

IR0 3R,

D) fAatsa AT AT HTd

fagtomRe 3 § gfassdm

fewd
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36. Select the incorrect statement about 6. TS STeE dad ShgarE
Asoka Mehta Committee on
Tl gentel faem feer .
Panchayati Raj :
(A) IrEfad=r qeg 9 &wEicas
(A) Main thesis of the Committee
. . TRSEET 9ImeATe  faeh gt
was functional necessity for
decentralisation of HLOIEL Bl
administration
(B) fg=ada sgaeen fAfHdr=t g=mm
(B) Recommended the creation of a
el
two-tiered system
(C) TETIdISIEET Y AR
(C) Compulsory powers of taxation
to Panchayati Raj Institution '
(D) Recommended the creation of a (D) foreata sgewen fafHdi=i g=m
three-tiered system
el
25 [P.T.O.



37.

38.

When did the Essential Services

Maintenance Act come 1into

force ?

(A) 1978
(B) 1968
(C) 1962
(D) 1979

Arrange chronologically the various
stages of Budget in the Parliament

by selecting the correct code :

(1) General Discussion

(2) Presentation in the Parliament
(3) Consideration and Passing
(4) Voting on Demand for Grant
Codes :

A @), (v, 3), @

B) D, @), 3), (@

© @, 3, @, @

D) (@), (1), @, 3)

37.

38.

AUG-15215/11

AEITTF Heoll SEUTET ShIFaT hegl TN
e 7

(A) 1978

(B) 1968

(C) 1962

(D) 1979

Tl Hehaear=l AR hEd T
siqTeTaIshT= fafas qre=aren 9 o

(1) weEER ==t

(2) HHIT HGHH

(3) fommued smfor wSR

(4) =ifen o7 fedre ®wR e
Hehage

@ (@), ), 3), @

® ), ©2), 3), @

© (@), ), @, ()

D) (@), (1), @), (3
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39. Select the correct answer about

Ombudsman by using codes below :

() Officer of state appointed to
provide an extra check on the
right of citizens against

governmental action

() It is a Scandinavian origin

system

(i) Tt is an institution for

decentralisation
(7w It is against Federal system
Codes :

(A) (» and (72 are correct, (77 and

(iv) are incorrect

(B) (2, (0 and (1) are correct, (7v)

1s 1ncorrect
(C) (2, (), (7)) and (iv) are correct

D) (9, (), (i) and (7v) are incorrect

AUG-15215/11

39. sgeqnd fawia Iy W @l

Thagdr=al MER arg feer

() IMEATA FdleR Afuew e

sorrEdl e sheren sifaeRid

(7)) I ITT TheTRITA SIMHL Tl

(i) & fosieniomac=l T 3Te.

(v B g e fadEt e

Hehadet :

(A) () efor (7) s 37ed, (777) 2
(7v) I 3Ted

B) (), () o (777) IR ATEA
o (fv) <k 38

©) ), G, Gi) &f (Gv) U

amed

O ), (G, () 1 Gv) © Tk
3Ted
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40. Right to Information Act,

41.

42.

2005

provides :

(A) Transperancy
(B) Accountability
(C) Decentralisation
(D) Anti-corruption

Which of the following is not a tenet

of Realism ?

(A) The centrality of security and

survival

(B)

The importance of the virtues

of strength and cunning

(©)

Values of Intelligence, nerve

and risk taking
(D)

State 1s a major actor along with

others non-state actors

What did the Westphalian system

denote ?

(A) The duty of nation-states to

adhere to the Church
B

International alliances would

take precedence

(©)
(D)

Rise of the modern nation-state

King had the divine right to rule

AUG-15215/11

40. 2005 =1 Hifgd! ATTRR HIAST § UM

41.

42.

HEA Il

(A) URERIha
(B) SfereRT
(C) foshgientm
(D) R

EATTdeh! IReaera hIv  afeTses]

AE 2

(A) Ffaaar ST A T@ror Are geadt
ES2IG]

(B) 9= 31 91qd = [OE HE

(C) g, & effor Siefy Eroaredt
I

(D) M
TIEEe sTfyeRcar= fienT

G HE=T 31w R ?

(A) T99 dYF TZ-TAH JTevar

EEIEHE]

(B) AW e Wer= e

AT SEHRTINEH

(C) 3nYfier T-T=A=T 359
(D) TSI | TAI0a=E Safl SR
3TTe.
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43.

44.

45.

Who enunciated the Fourteen points
at the Treaty of Versailles ?

(A) Castlereagh

(B) Metternich

(C) Talleyrand

(D) Woodrow Wilson

What was the name of the massive
economic rebuilding plan for
Western Europe which was to
rebuilt was torn economies after
Second World War ?

(A) NATO

(B) Marshall Plan

(C) Containment

(D) IMF Loans
Which among the following are

43.

44.

AUG-15215/11

e aemed foRIg sherell 14 I o
Higett ?

(A) gt

(B) HeestTa

(C) e

D) JSI faeea
T HRTgSTHaR eArfeie  srfisera

qroede ufyew quuear sufefw
JEHUHS=A1 Higa Sifdien e e
% ?

A) =&

(B) @wfer s

(C) dr=A| S

(D) ST A= sl

45, GehayEl AR HEA Gl Jeh! T
tangible elements of power ? S .
(1) Physical Geography and
Geopolitics W ‘T’ﬁ?f Sl T
(2) Natural Resources and raw (2) WWW ST Shreall AT
materials CYIERIE
(3) Technology (4) T =y anfo fafadet
(C4) dNat.ional character and morale W :
odes :
A (), (2) and (3) are correct @) (), (2) s (3) A 3T
B (1), ) and (4) are correct B (), @) o (4) == e
(C) (2), (3) and (4) are correct (©) (2), (3) =wfur (4) IrFa 18
(D) (1), (3) and (4) are correct D) (1), (38) smfvr (4) Irg 3TE
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46.

47.

The Acheson Plan which was a
result of the Korean war in 1950 was

an example of :

(A) Splendid Isolation
(B) Peaceful coexistence
(C) Collective Security

(D) Balance of Power

Choose the correct chronological
order on the basis of the codes given
below :

(1
(2)
3)
(4)

Tokyo Round
Kennedy Round
Doha Round
Uruguay Round
Codes :

A ), (1, @, 3
B ), (2), (3), (@)
© @, 3, @, (1
D 3), (@), (1, 2

46.

47.
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1950 el STAed hifEd ggr=a
AT STerel! TS Al e

IR AR ?

(A) AT ATl

(B) wnaargul wEsTRE

(C) wHfesh G

(D) I« gHdA

oo N

ETel! feeTed Hehaeei=n 9T e I

FCTRE fel
(1) ferdr w0

(2 =+t Bl

(3) <@ wl

(4) ST H
Hehaga :

A @), (1, @, 3)
B (D, 2, 3), @
© @, (3, 2),

D) 3), (@), (0, @
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48. Give correct answer by using the 48, @ e %iq\vd%i\dqlt{l ST FET F
codes given below :
Assertion (A) : India’s LEAP (Look R
East and Act Policy) began before faem (A) : 9RA LEAP (TS e
1991. ST Fefl A GR) 1991 e go
Reason (R) : The Cholas were a e,
naval power that traded in the Indo- &HRUT (R) : Icl & Teh ARAEN G«
Pacific region B MO o IRA-WRd We¥MA SR
Codes : EXGEGGIR
(A) Both (A) and (R) are correct and W .
(R) is the right explanation of (A) T (A) 3T (R) IR 3T a7fn
( @ (R) ¥ (A) = I7T TIEH 376
B) Both (.A) and (R) are correct but (B) < (A) ST (R) =R S sifin
(R) is not the correct ) .
explanation of (A) R) & (A) = = TR
(C) (A) is true, but (R) is false (©) (A) TR 3 T (R) kSd Sl
D) (A) is false, but (R) is true D) (A) =% e T (R) SR e
49. Where did the first summit of the | 49. 1961 T4 AfeTxarene! =eaa=! RrEr
Non-Aligned Movement (NAM) take g v fommof w’eft ?
place in 1961 ? (A) 39
(A) Cairo (B) e
(B) Belgrade .
(C) Bandung (€) =g
(D) New Delhi (D) it feeedt
50. Which one of the following countries | 50. ®refierdest v 3% BIMSTEC =1
is not a member of BIMSTEC ? [HE A ?
(A) Bangladesh (A) AR
(B) Australia (B) eAteefern
(C) Myanmar (C) 7R
(D) Thailand (D) g
31 [P.T.O.
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